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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

eIl ave {9 Y9 U R A AHad: o |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

[t 99T B A |

All the questions are compulsory.

ek U9 T ITR &I T8 STR-YReashl | &t ford |
Write the answer to each question in the given answer-book only.

59 geat | 3= @ue €, 39 |l % ST T 919 8l ford |

For questions having more than one part the answers to those parts
are to be written together in continuity.

T9T U % TR o S TURR W Rl YRR w e / R / faxerara g
TR fE=st 9T % W S WEl W |

If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.
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6. Tqug 09T AT

A 1-10 1 10 ¥
) 11-18 2 20 ¥
q 19-27 4 30-40 ¥
< 28-30 6 250-300 ¥

Section Q. Nos. Marks per Word limit

question of answer

A 1-10 1 10 words
B 11-18 2 20 words
C 19-27 4 30-40 words
D 28-30 6 250-300 words

7. U A 28, 29 AT 30 H I {ohed ¢ |

Question Nos. 28, 29 and 30 have internal choices.

Tqug - A
Section - A

1. Hipd FisHIes sTeeawn &1 379 fafau |

Write the meaning of Centrally Planned Economy. 1
2. 3TCYRA FME ?

What is the short run period ? 1
3.  STCUIMYHR i TR HifT |

Define Oligopoly. 1

4. I AUHEM we I Sttuyla i feafd v Fifsw)

Explain the situation of zero excess demand and zero excess supply. 1

5.  OHEEE S T aRSHE e ?

What is the remuneration of human labour ? 1
6.  TRoIaT YA T T A § 2

What is meant by liquidity preference ? 1
7. %] fatw= & #E 3 3 FawRw|

Give any two deficiencies of barter system. 1
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10.

11.

12.

13.

14.

I ST T & ?

What is a closed economy ?

Ifg fopdl Tegee U STUcge] Y 25 S o UH IUSH 5 HS To &, dl

faeT 3TceT X I TUFT HiteTT |
If indirect taxes and subsidies amounted to Rs. 25 Cr. and Rs. 5 Cr.
respectively in an economy, calculate the net indirect taxes. 1

FeAlfersT, 29X, T W U WS | § HiA-TF IS aqi § 2
Which are the capital goods among television, tractor, pump set and
food ? 1

qug -

Section - B

ISR i T AT hs g AU foifEgu |

Write any two central problems of an economy. 1+1
TeTeT Y Uel 30T S b1 o1 ST € 2
What are meant by direct taxes and indirect taxes ? 1+1
BT foreTo i & THesy |
Explain the diminishing rate of substitution. 2
fqu 7T Y@k Wi Ok AB % A Ud B fag3il W G Sl @ 1§ ?
S
B
© BiEl
What is the elasticity of demand at the points A and B on the given
demand curve AB? 2
Price A
B
© Quantity
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15.

16.

17.

18.

19.

20.

4

S TS GROM A S T O, HEG TS el GG o SER WS GEie
TS AT TG ht TOHT hifTd

F trad =T
CEIRIER Pl Eataro) ; . .
1 9 9 _
2 8 16

Calculate the marginal revenue and average revenue on the basis of
quantity sold, price and total revenue given in the table :

Quantity sold Price Total Average Marginal
revenue revenue revenue
1 9 9 —
2 8 16
Yo+t Yo+ 1

TXHR e TIaeT § T~ ] i FHol AT ST FF 250 FIE To
T el TR HeieT = 100 FRIS To & Al WeATeTd et HT FI hifsTd |

Calculate the ex-ante aggregate demand, when the ex-ante
consumption expenditure is Rs. 250 Cr. and the ex-ante investment

expenditure is Rs. 100 Cr. in an economy without a government. 2
forett wamR aTifieRy Ud MR = H SR THEET |
Differentiate between foreign trade surplus and trade deficit. 1+1

foRelt fafma ST h1 37 THEATRU | 39 S1SIR o i & Giq9iEl ol Seoi@
HifeT |

Explain the meaning of foreign exchange market. Mention any two
participants of the market. 1+%+ %

Tqug - g
Section - C

YRATF [Tel ek 1 Hifgeh AT T AR SUHIT FAT |

Write four instruments of monetary policy of Reserve Bank of India.
4 x1

TIHRT 1 T HH HIH & HIe &1 U T FUM DI |

Describe any two measures to reduce the Government Deficit. 2+2
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21. T9oRT 1 37 SREIOT Wied THAET | ICURSH & [Howl T (o & faRe
FN T ?
Explain the meaning of investment with an example. What is the
deciding factor of investment decision ? 3+1
22. TRAT U & ? T@Ies 1 Ferdal ¥ T2 Hhife |
What is liquidity trap ? Explain with the help of a diagram. 2+2
23. THA Wl SAR H dF Gl — 2, AT T SAR FRT NG oz
T |
Give a diagrammatic representation of Gross Domestic Product by the
three methods — Expenditure, Income and Product. 4
24. U7 UiqeqeEl SR 1 FiE AR I fefau |
Write any four conditions of perfectly competitive market. 4 x 1
25. T T GRON H I HEd feR A, fea aitedt o, STl e
AT el 3TCUshTel WIHT=T T odl sl TOFT it -
afraa afrad .
fta o ¥ FHA STCUHRTAN | STCTRIAH
.| fero | fet feer aiaret
(geprEan) AT T AT | HEIRT AT
AT AN AT AT
0 40 — 40 — — — —
1 40 20 60 ? 20 60 20
2 40 36 76 20 18 ? 16
3 40 48 88 13-:33 ? 29-33 ?
Calculate the missing values of average fixed cost, average variable
cost, short run period average cost and short run period marginal cost
in the given table :
Short run | Short run
Output Total thal Total Average Avgrage period period
. fixed | variable fixed variable .
(Units) cost average marginal
cost cost cost cost
cost cost
0 40 — 40 — — — —
1 40 20 60 ? 20 60 20
2 40 36 76 20 18 ? 16
3 40 48 88 13-33 ? 29-33 ?
4 x1
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26.

27.

28.

6

TS I%] l HITT 10 Fo TS Yid 100 IHIEAT & | HIFT Fght 12 o & T Ifd
TEH 150 IHTEAT &l STt & | i i hiTe e 3T hifsTy |

The price of a commodity is Rs. 10 and the supply is 100 units. If the
price increases to Rs. 12 and supply increases to 150 units, calculate
the price elasticity of supply. 4

g qoT et SR | Tk o W BIEa 20 To Uid TE &, o & g2 GO §

FoT GOt e A Tofed STgieat st TUFT it

St M AET | por wEftd | G g
0
1

2
3

If the price of a good in a perfectly competitive market is Rs. 20 per
unit, compute the total revenue and marginal revenue schedules in

the given table. 4
Sold quantity | Total revenue | Marginal revenue
0
1
2
3

Tqug - T
Section - D

o a5k W o @ HiT ok i fSem § Tid Wi 3@ o geEd § W
I |

37T
IS IWT TS SHNT Tk § STUhT T AU € 7 SHNHH HHeS i
TG Y FErEdr § HeE |

Explain shift in the demand curve and movement along the demand

curve with the help of diagrams. 3+3
OR

What do you mean by the budget line and indifference curve ? Explain

the indifference map with the help of a diagram. 1%+ 1%+ 3
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29. @T SHIA er HI(\{OI('ﬁ SHId ﬁ X IdrRU | gIHHM H(\I‘-II"&'I S} fram =t M
I |

STl

STCURTA AN o5kl ehi TG hl TSl W ST iU |

Differentiate between fixed input and variable input. Explain the law of

Diminishing Marginal Product. 1+1+2+2
OR

Discuss the short run cost curves with the help of diagrams. 6

30. e Tl SIS UG Hoau § T Tl AR it |

372
T TR st T HITT -

(i)  Hhel ] 3R

(i) TPheT AL IR

(i) T T 3AR

(iv) @R TNT W HaeT T 3.

(v) aafees 3

(vi) AT TS |

Discuss the relationship between Gross Domestic Product and

Welfare. 6
OR

Explain the following concepts : 6 x1
(i) Gross Domestic Product

(ii)  Gross National Product

(iii) Net National Product

(iv) Net National Product at Factor Cost

(v)  Personal Income

(vij  Personal Disposable Income.
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